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Mohit.. 14 hours aga 1 subscribsrs

Thank-you Sir for this very Amazing and Wonderiful Class Session of today.. g, =
And

My Answer for today's homewark is-

FORSTUVW..

Read more

i P RePy B
* 1 REPLY

Kiran Sharma 4 hours ago

PORS TUVW-(clockwise)

Nank you sir

it GP  REPlY B
* 1 REPLY

¢ PUJA KUNDU Ay ——— 16 hours ago B subscribars
The answer is —FWVUTSRO.... P-T.W-5. V-R._.U-Q_._.SANDAR SESSION SIR o% o% # ... THANK YOU S00 MUCH SIR 2 L &

fh 2 §F REPLY &
* 1 REPLY




Garima Rathore 16 hours ago 1 subscrbars
Homework answer
Clockwise :STUVWPQOR

Very nice session sir.. thank you....
& P Ry 8
* 1 REPLY

Twinklr Gupta 71 hours age

Best session sir.ever of reasoning and your teaching is also best.
oir mera ye first attempt hai.awr m chahti hu clear kena ye exam SBI ka, and reasoning k live aap pr hi depend and believe v h.. reasoning m to koi problem ni hogi.
Thanks you sir

& P orpy 8
* 1 REPLY

Surbhi Sinha 7 hours age

PORSTUVW.,.... thank you sir ¢g #8 hamare doubt clear ho rha h or session damdar the
it F  REPLY -

* 1 REPLY

Madeam 16 hours age

(@) Today's Homework W

€4 Square table Sitting arangement §
R 5 T




H. W Answerclockwise PQRSTUVW

-

simran Lalwani 13 hours age m Vikas Dubey 16 hours ago 1 subscribers
: R. 5
g

Tysm Sir nice session
oy GF REPLY =
* 1 REPLY

Rajat Sahw 4 howrs ago

Hw ans is - P-T, W-5, V-R, U0
Wonderful class sir
air Syllogism extra ek session karenge kya plz i

oy GF REPLY -
* 1 REPLY

ahefali Thakur 1€ hours ago 4 subscribars
AMSWET

Clockwise - FORSTLIVW

air Ye guestion aap ekbar de chuke hai

i GF REPLY -
+ 1 REPLY

. L
P W v
CLASS BAHUT ACHA LAGA SIR .
iy &F REPLY =

* 1 REPLY

Ionika Kumari 7 hours ago 1 subscrbars
STUVWPOR ( clock wise)

i o Ry B

* 1REPLY

Miharika Jha 15 hours 2o

Thank you sir for the session.. #4one like for this session
Homework answer: P-T, W-5,V-R , U-0

iy &©F  REPLY =

= 1 REE|Y



Twinklr Gupta

iy 3,
L] -

+ 1 REPLY
Keka Mat 1=

ANSWER -
F

oy 5r REPLY

» 1 REPLY

Pt wre wrug




Alphabetical Series

Chinese Coding — Decoding

Inequality

Blood Relation

Syllogism

Distance & Direction

Circular based Sitting Arrangement ( Inside Outside )
Linear based Sitting Arrangement

Floor Based Puzzle
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Eight persons P, Q, R, S, T, U, V and W are sitting around a
square table with four of them sitting at the corner and
rest sitting at the middle of the sides of table. All of them
are facing towards the centre of the table . One person
sits between P and V. Two persons sit between V and S. P
sits at the corner of the table. U sits to the immediate left
of T. R sits second to the right of T. Q sits to the
immediate right of R. W does not sit to the immediate

left of P.



©

Eight persons P, Q, R, S, T, U, V and W are sitting around a square
table with four of them sitting at the corner and rest sitting at
the middle of the sides of table. All of them are facing towards
the centre of the table . One person sits between P and V. Two
persons sit between V and S. P sits at the corner of the table. U
sits to the immediate left of T. R sits second to the right of T. Q

sits to the immediate right of R. W does not sit to the immediate
left of P.



)L{J.U‘YOJ.II@ZSF‘I-W.SI'DLUJLY@UDVI"!’

Q. Four of the following five are alike in a certain way on
the basis of their positions in the above arrangement
and so form a group. Which is the one that does not

belong to the group?

U. SIRIGd IR H 3191 fRAFT & STUR W],
fFafafed A I IR, Afida T U A T U & SR
Sl TS G §1d ¢ | T A S AT Su wgg 9
Tafed a8l &2

(1)S1% (2)118 (3)G1l (4)435 (5)172



SQ1G%17|@8#4W3F52UJZY©06VA?

Q. How many such symbols are there in the above
arrangement, each of which is immediately preceded by
a consonant and not immediately followed by a vowel?

Y. SWRITT g1 H fha= T el & o qid
Ugd U ol @ 3R qid 91¢ Ueh IaX g1 &7

(1) None (2) One (3) Two (4) Three (5) More than
three



\ ) P,
SQ1G%171@8#4W3F5ZUJ2Y©OG6VP:

Q. Which of the following is seventh to the right of
thirteenth from the right end?

U e A 4 a1, ISR AREd &
o1 qTadi g2

(1) © (2))  (3)U (4) 7 (5)
%



\
SQ1G%17I@8#4W3F52UJZY©06VP?

Q. What will come in place of the question-mark (?) in
the following series based on the above arrangement?

0. SWRIad a1 & TR TR Fafafed yaard
Uy I8 (7) & I TR HT STAT?

%17, @8# 3F5, (?)

(1) Q2© (2)2Y© (3)v?© (4)?# © (5)UQO©



SQ1G%17I@8#4W3F52UJZY©06VP?

Q. How many such vowels are there in the above
arrangement each of which is immediately preceded by a
symbol and immediately followed by a number?

¥. SWRIeRT SgqRIT H ford U TR ¢ o A U
% q¥d Ugd U Ul g 3R qid 91¢ Udh HBTT 82

(1) None (2)One (3)Two (4) Three (5) More than three



Q. In certain code language IMPRUDENT is written as 9-4-7-9-3-
4-5-5-2 and GARRULITY is written as 7-1-9-9-3-3-9-2-7 then how

will MISTLETOE be written in that code language?

U. Uh FYd HIS HINT H IMPRUDENT &1 9-4-7-9-3-4-5-5-2
feRaT ST @ 3Tk GARRULITY 1 7-1-9-9-3-3-9-2-7 i@ 91T 8
dl 39 HIS YIS H MISTLETOE 1 o3 TeRaT SR

(1) 13-9-19-20-12-5-20-15-5 (2) 4-1-1-2-3-5-2-5-5

(3) 4-9-1-2-3-5-2-6-5 (4) 4-0-1-2-3-5-2-5-5

(5) 4-9-1-2-3-5-2-5-4




e LU VVGUIng INIlfle SVUVVUI VIYD JDVUELIL LITGIET TIG WUITTIYD VWV GITG IGTL Uil

\ . walks 5 km. Agaln he turns to the right and walks 3 km. Now in
which direction is he walking?
(1) North-east (2) South-west (3) West
(4) South East
. U, EF&WT 3R 5 fpaHie gaarg fhy ag m_%-:ﬁ
TEdT 2 3R 5 fre TeraT 21 98 T QU gedT 2 ok
Jadr g | 39 98 fra femn A aa @182
(1) IWR-gd 2)gféurufdm (3)ufdm
(a) Gf&roT (5)



Statements-A=D<B,G<K=X>)J,R<G=D

Q. Conclusions- .B>D
I.D=X

Q. Conclusions- I.G>A

1. J <K

Q. Conclusions- .R<X

Il.A<X



&, 12

invited , sartorial , eleven is writtenas 12@ , 20&

9@

What is code for “consultant” & ﬁnz GHIAd His T
gllll?

(1) 24&
(2) 21@
(3) 18@
(4) 21&
(5) None of these



21& ,9&, 12&

invited , sartorial , eleven is written as 12@ ,
20 ,9@

What is code for “apple” & o€ GHIAd PHis T
gIT?

(1)12&
(2)6@
(3)8@
(4)7&



All the six members of a family A, B, C, D, E and F are travelling
together. B is the son of C but C is not the mother of B. A and C
are a married couple. E is the brother of C. D is the daughter of
A. F is sister of B.

U® UROR & I B8 A, B, C, D, E 3R F U ITY JTAT

H 7o 8l B, cwrga%%c BHI AT 1 AT C

?ﬂﬂ%ﬁﬁﬁ%%l ECPHIHE 21D, AR AR | £, B FY 98
I

Who among the following persons is the son of A?

FafifRada s aTafRT A ST g 82

(A) B (B) D

(C) F (D) E



followed by two conclusions | and Il. Find which of the two
conclusions | and Il given below them is/are definitely true. Give
answer—

(1) If only conclusion | is true. /@Wﬁﬁlﬂf | FW%I
(2) If only conclusion Il is true. /’Cﬂ% had T&hY || 9

RE
€) fgltwer conclusion | or Il is true. /ﬂﬁm?ﬁﬁwﬁflm?ﬁ Il
qd gl

(4) If ngther conclusion | nor Il is true. /4fG - al FIhY | 3R T &
ISR

(5) Ifé)oth conclusions | and Il are true. /aﬁaﬁfﬁwﬁl 3R 11
Jd 5|




Statements:
All Salman are Rahul.

Some Kiran are Salman.

All Helan are Rahul.
Some Kajol are Rahul.
Conclusions:

I- All Rahul are Kiran.

ll- Some Kajol are
Salman.

D Y-:

gt g, Aga 7 |

%o fevur e 8|

mﬂ%?ﬁ,ﬂgﬁ%'%

P Do, AgA & |
R faror §

- gt ATEa, |

I-$S BN, GAHT 6 |



Statements:

All Salman are Rahul.
Some Kiran are Salman.
All Helan are Rahul.
Some Kajol are Rahul.
Conclusions:

I- All Rahul are Kiran.

lI- Some Kajol are
Salman.



Statements:
No Amit is a Ra,j.
Some Raj are Anil.

Some Ram are not Amit.

All Anil are Kalam.
Conclusions:
|- Some Kalam are Ra;j.

ll- Some Raj not being
Amit is a possibility.

D Y-:
PIg AfHd, IS 8l g
PO e, A Bl

%O M, 3HfUd 5l 5|
mﬂarﬁ?r HATH G |

- WW NEE

ST &b
CoRARIRA A

e



Statements:

No Amit is a Raj.
Some Raj are Anil.
Some Ram are not Amit.

All Anil are Kalam.
Conclusions:
|- Some Kalam are Ra;j.

ll- Some Raj not being
Amit is a possibility.



Statements:

All Mona are Sona.

All Riya are Hina

No Mona is a Hina.

All Dev are Sona
Conclusions:

D Y-:

g 741, AT R

g fear, fgar g
BIs AT, ATt 8|
gl 9, AT 2
frep:

I- Some Mona are not Hipagh&d 'l:ﬁT-IT, %T-ITT-Iﬁ%I
ll- Some Sona are Dev. |I- W'\‘:ﬁqT, ¢dsl



Statements:

All Mona are Sona.
All Riya are Hina
No Mona is a Hina.
All Dev are Sona
Conclusions:

|- Some Mona are not Hina.
lI- Some Sona are Dev.



Statements: hY-:

All Salman are Rahul. gl HcTHIA, TIEF[%I

Some Kiran are Salman. Wﬁ"_\nﬂ, JAa 8 |

All Helan are Rahul. qHt ge A, W%' |

Some Kajol are Rahul. er W%|
e

Conclusions:

I- All Salman being Rahul - qu%Wﬁﬁaﬁ

is a possibility. t{ﬁ'ﬂ‘l—ﬂ‘cﬁT%l

lI- All Helan not being Il; Hﬁ-ﬁ%ﬂ?%wqfﬁe{
- o P Uh HUTEAT g

Salman is a possibility. P



@ Statements:

All Salman are Rahul.
Some Kiran are Salman.
All Helan are Rahul.
Some Kajol are Rahul.
Conclusions:

|- All Salman being Rahul
is a possibility.

ll- All Helan not being
Salman is a possibility.



Statements:

DY

No Amit are Raj. ﬂﬁg Glﬁl?[ Wﬁ%l

Some Raj are Anil. FERISH \’rl'felﬁ%l

Some Ram are not Amit. P® RH, T A g
gt sifa, a7

All Anil are Kalam. fp:

Conclusions: I-ﬁ?_ié'ﬁrlﬁl?[ Wqﬁ%l

I- Some Amit are not Ramll- P& \’rlﬁl?[ \’rlﬁl?[-_-lﬁgl

lI- Some Anil are not Amit.



@ Statements:

No Amit are Ra,j.
Some Raj are Anil.
Some Ram are not Amit.

All Anil are Kalam.
Conclusions:

|- Some Amit are not Ram.
lI- Some Anil are not Amit.



face inside and some of them faces outside the centre. Each of them is an
equal distance from each other. B is sitting third to the right of A. H sits
third to the right of G. D is not the immediate neighbour of A. H is the
immediate neighbour D. D sits second to the right of B. E sits second to
the right of F who sits second to the left of H. C and E faces same
direction. D and C faces opposite direction. C sits second to the left of D.
E faces H.E faces the centre.

TS AT ABCDDEFGHTS MATHR AW & IRI R 96 8| 370 9
PO DT I 3R 3R PO BT Hg P Iy aldl ¢ | 398 4 TP Th
IR ATH FAH QI IR %l B,AD CA A AR UMW 4318 I H,GD
Sl I TR Y R 93181 D, A BT Ahecaq USRI A8 81 H, D PT
AP USRI I D,BHF R A G RIFA RIS B EF & A



LISIILITICIIVUO A D VU LT QU ITolLllg altvulliu a Liftuidl tavic . QulTiIc Ul uicin

face inside and some of them faces outside the centre. Each of them is an
equal distance from each other. B is sitting third to the right of A. H sits
third to the right of G. D is not the immediate neighbour of A. H is the
immediate neighbour D. D sits second to the right of B. E sits second to the
right of F who sits second to the left of H. C and E faces same direction. D
and C faces opposite direction. C sits second to the left of D. E faces H.E
faces the centre.



- W ATV bW Wl SiiIWwig IUUIIIB W T Uil Wi 1 T WE i Il MWWMEG 1l WE IlveewdIIGil II, 5l &N

same order
Sonu is not the neighbour of Tara. Hello is at one end. Neither Om nor

Tara is neighbour of Iram who is not at any end. Om is second to the right
of Hello. There are more than two persons between Tara and Jack. . All
persons' positions are clear.

qTd fad i, ORI, 2!, S MR A up ufea A S &
aﬁ?rﬂﬁﬁuﬁﬁm ﬁ% @%WWH@’I




